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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. SUerel Teaued 3709 U9 U9 WX A 3 Jad: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. UEUFE TR F SIS TURR H FHH FHR Hl T / IR/ SREH
T W g 91T % U9 Sl el A |

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

3. 9 U A F A &1 U9 hHieh 19 T 20 H 3 Teh Fhed ¢ |

All the questions are compulsory. Question Nos. 19 and 20 have
internal choices.

4. T T T IW A e IR-YRAH | & AqG |

Write the answer to each question in the given answer-book only.
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5. 9 U 6 UH 9§ U GHM 3 Al A6 €, 3T @A GW H A Th
e | o |
For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in
continuity.

6. U HHH 1 %GR 9 ( i, ii, iii T7 iv) 8| TIF 90 & I & °IR-
THT (A, &, § U ) €| Tl Thod P IWER SW-YRAHT H

AHTTER T efehl STehY o :

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 HHIH T I HT HHER

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. (i) gelche = T SHT &Il &
(3 9.1 x10287W (@ 1672 x 10287H
(@) 91 x10-187H () 1672 x 10247,
Mass of electron is
(A) 91 x 1028 gram (B) 1672 x 1028 gram
(C) 91 x10-18gram (D) 1:672 x 10724 gram.

N | =
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(i)  hoTESicT HUT HT AT BT &
(31) 1-00 9 100 HAHEHH (&) 2009 300 HAHTEHA
(") 600 F 800 HAMHTZHA () 800 H 900 HAMHTZHA |

Diameter of colloidal particles is

(A) 1-00 to 100 mp (B) 200 to 300 mp

(C) 600 to 800 mp (D) 800 to 900 mp. %
(i)  IoToRD R O T S T O AT I ©

(37) o Wl T R (F) TR TG 5R

(W) e 99§/ () KCNH 3HIl HLEe |

Refining of the silver from Argentiferrous lead is done by

(A)  froth floatation (B) cupellation

(C) distillation (D) reaction of KCN. %

(v)  ATESISHIE SO W HEC A TSI HIE §
(31) 100 % (@ 25970 %
(W) 85W88% (X 90% |

The use of nitrogen by crops from nitrogen containing fertilizer

is

(A) 100 % (B) 25 to 70%
(C) 85 to88 % D) 90 %. %
2.  fFAH FH Fed € ?
What is Nucleon ? %

3. RN (WHV] FHH-47) F SARAE FTAE AEGY |

Write the electronic configuration of Silver (Atomic number-47) 1

SS—84—Chem. (Agr.) SS-600 [ Turn over



10.

11.

12.

R T FARTEE 1 G A &T |

Write the formula of vinyl chloride. %
TTT HIARST e TR & & § ?
How many types of soil colloids are there ? %

ST Toh AToTehal o HTicelsh TToTehdl | ST 3= & ?

What is the difference between ionic conduction and metallic

conduction ? 1
G HIUT Js1T 1 T YA A ST |

Define the activation energy. 1
RIS T W GT A G |

Write the structural formula of Urotropin. 1
9T Fo % FT H IR STAT AT |

Write the four uses of Nuclear energy in agriculture . (4 x % ) =2

UfosheT §OTES T T g9 WU | UUET SRS ® A ¥ FATHA h
T Foh FHIHOT T

(i) STeflg KOH (i) NH; (i) AgNO,

Write the general formula of alkyl halide. Give the chemical equation

when ethyl bromide reacts with

. .. 1 1 1 1

i) Aq. KOH ii) NH iii) AgNO -+t -+ =+ = =2
(i) Aq (ii) 3 (ii) AgNO, R
TEU 9T 2R & HiE IR YA A @Y |

Write any four uses of diethyl ether. (4 % % ) =2

feTeRiel & U 1] H IuREA —OH WHel &l Fol W& d@U | fiomRiet &
g I STET AT |

Give the total number of —-OH groups present in one molecule of

glycerol. Write any two uses of glycerol. 1+1=2
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13. SN hd Ted & 2 3 I
Ag,0 + Hy0, —> 2 Ag + Hy0 + O, H 3ToIIHRe Hi a1 U |

What is known as oxidant ?

Identify the oxidant in following reaction :
Ag,O0 + H,O,— 2 Ag + H,0 + O, 1+1=2

14. Cg Hy, & I ¥vg THEE 341 o GTAT §F SIS0 I 0 qHIEFS H
THR off T |

Give structural formulae of all the possible isomers of C; H,;, and

. . . . 1 1 1
mention the type of isomerism in these also. > + > + > +==2

N |+~

15. EE h A e ThR B AT € 2
AYHAT N, + 3H, — 2NH; + 22400 cal W FGrxdl TAT IS HT GHS
HHEARY |
How many types of chemical equilibrium are there ? Explain the effect

of concentration and pressure on the reaction

N, + 3H, — 2NH, + 22400 cal. 1+1+1=3
16. 3MYTH Ed 90 G | OHRESE H Ed GROT H TEd (ShHih)
JATRY | Ueh GA1EA 379 S TRAT] F BT 41 &1 @ 2

Write modern periodic law. Give the period (number) of Lanthanides in

the periodic table. Explain why the size of cation is smaller than the

size of its neutral atom. 1+1+1=3
17. oIS B9 3T Y AT 1 TERE T TH0T (@0 | 997 @d & LL.U.P.A.C.
T TG
cng
CH,

iii)  CHz - ClH ~CH,-COOH iv) CH;-O - CH, - CH,
CH
3
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Write the chemical equation of Lederer Manasse reaction. Write the

[.U.P.A.C. names of the following compounds :

CH3

|
i) CH; - C ~CHy ij) CH,-CO - CH,

CH,
iii)  CHz - ClH - CH,-COOH iv) CH;-O - CH, - CH,

CH
3
1
1+(4 x=)=3
2

18. TGHhA TSI S0l T T G 1 @T |
TN T W1 G qAT Y ITET AG |
JTAT H A G T THAT H T T GHHT I T -
(i) H,O (i) HNO;, (iii) CHZCOCI (iv) H,N-NH,
T 9 95 H A SR 9T |
Write the general formula of Alkene homologous series.
Give the structural formula and two uses of urea.
Give the chemical reaction when urea reacts with
(i) H,O (i) HNO;, (iii) CHZCOCI (iv) H,N-NH,
Give the three differences between calcination and roasting.

Lit+2+1l=5
2 2

19. TEUNT YT I GIAST AGU | 0T T & G 99 & R HROT I |
SRT 3T QUR § T % SYINT 6T 1 Fecd § 7 gHd % Gl HUi ud
FHAT R FHE IR TG T & |

3T

TR F FT H HIE IR Hecd AGT | AT TS 594 o IR PRI &I 5T |
TR 3TFAAT - ThR Y &It € 2 o T&d au < |
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Write the definition of saline soils. Give the four reasos of formation of
salt affected soils. What is the importance of using gypsum in
reclamation of alkali soils ? Write any four effects of humus on the soil
particles and crops. 1+1+1+2=5
OR
Write any four importances of clay in agriculture. Give the four
reasons of formation of Acidic soil. How many types of soil acidity are
there ? Describe with diagram. 2+1+1+1=5

TIESTH FIH HIhS T IAE A I qT TIH STo1 dIoid FRERYT H T T9d
T Jaed | BEe 3R H SRS 999 ®ERS & Hi IR YA T E@U |
F Y TN FRT & det TgNUT i A F & IR SUE AT |

3
R 3 ISR T TAE A6 I qdT IHH FeT G Hl T JET FdRY |
HHA ICRA § RIS 3 G & FiE IR ST A™U | F'Y TGRHl § e
! AT T TR A a6l Hellehi o I&1 9 a1 |

Give the chemical formula of diammonium phosphate and percentage

of water soluble phosphate in it. Write any four uses of diammonium

phosphate in crop production. Write the four measures to minimise
1 1

pollution due to agricultural chemicals. > + > +2+2=5
OR

Give the chemical formula of muriate of potash and percentage of total

potash in it. Write any four uses of muriate of potash in crop

production. Draw the line diagrams of symbols which indicate the

. . . . . . 1 1
intensity of poison in agricultural chemicals. > + Py +2+2=5

TYTE T9E FE Fod ¢ 2 °F GRT GHARY | TR T H GIATT B |
Tg T TR & e § 2 W T @ R TS TSdAT 8 2
What is the greenhouse effect ? Explain with diagram. Define the food

colours. How many types of food colours are there ? What is the effect

of food colours on health. 1+1+1+1+1=5
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